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O0l1. Incomplete Part Completion

1. €, LHo|7r Al ZHof B3 2= 7S F=7F

Timekeeping.java

int alarmNum = system.alarm.getSize();
AlarmData[] alarmLi system.alarm.getAlarmList();

for (int i = 8; i < alarmNum; i++) {

AN E R 2t d-dayE H| 2510, d-day
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O0l1. Incomplete Part Completion

2. timeout 7| 7+

public void startCheckTimeOut() {
checkTimeOut = new Thread(() -» {
while (true) {
try {
Thread.sleep( millis: 1888);

if (java.lang.System.currentTimeMillis() - lastOperateTime »>= TIMED OUT) {

lastOperateTime = java.lang.System.currentTimeMillis();
switch (selectedFid) {
case 1:

if (timeKeeping.getMode() == @ &8 mode == 1) {
this.cancel();

GUI. setView(GUI.timekeepingView);

} else if (timeKeeping.getMode() == 1 && mode == @) {
timeKeeping.cancel();
GUI.timekeepingView.borderPanel.setVisible(false);

¥

break;
case 2:
if (stopwatch.getMode() == 2) {
stopwatch.cancel();
GUL.stopwatchView.borderPanel.setvisible(false);
¥

break;

Timekeeping, stopwatch, timer, d_day,
alarm, alarmcustom 67tX| 7| s B 5%
timeout 7t 2t =

case 3:
if (timer.getMode() == 1) {
timer.cancel();
GUL.timerView.borderPanel.setVisible(false);
String tmp = timer.getTimer().getCurrentTime();
StringTokenizer st = new StringTokenizer(tmp, delim: " ");
GUL. timerView. setHour(String. format("%02d", Integer.parseInt(st.nextToken())));
GUL.timerView. setMinute(String. formot("%02d", Integer.parselnt(st.nextToken(})));
GUI.timerView.setSecond(String. format("%02d", Integer.parseInt(st.nextToken())));
}
break;
case 4:
if (d_day.getMode() == 1) {
d_day.cancel();
GUI.d_dayView.borderPanel.setVisible(false);
if (d_day.getD_day() == -1) {
GUI.d_dayView.setYear(" ");
GUI.d_dayView.setMonth("NO");
GUIL.d_dayView.setDate("NE");
T else {
string curbDate = d_day.getD dayDate().getCurrentDate();
sStringTokenizer st = new StringTokenizer(curDate, delim: ™ ");
GUI.d_dayView.setYear(String.format("%02d", Integer.parseInt(st.nextToken()) ¥ 188));
GUI.d_dayView.setMonth(String. format("%02d", Integer.parseInt(st.nextToken())));
GUI.d_dayView.setDate(String. format("%02d", Integer.parseInt(st.nextToken()))):




O0l1. Incomplete Part Completion
. L N Timekeeping, stopwatch, timer, d_day,
2. timeout 7|5 +¢ alarm, alarmcustom 67tX| 7| & 2 &
timeout 791 t=

case 5:
if (alarm.getMode() !'= @) {
alarm.cancel();
GUI.alarmView.borderPanel.setVisible(false);
1
i
break;
case 6:
if (alarmCustom.getM
alarmCustom.cancel()
GUI.alarmCustomView.borderPanel.setVisible(false);
1
1
break;
1
i
GUL. setView(GUL.timekeepingView);
functionNumIdx = @;
selectedFid = 1;
1
!

- catch (InterruptedException e) {

e.printStackTrace();




O0l1. Incomplete Part Completion

3. unittest &=

setTimeTest() » dA 2f= 0 7t=X] 22l

’

timekeeping.requestTimeSettingMode();
for (int i ; 1< 5; iH)

eValue
( system.alarm.

system.alarm.

system.alarm.

timekeeping.changevalue( dif ; system.alarm.

timekeeping.requestSave(); system.alarm.
assert (time.toString().equals(

assert (date.getCurrentDate().equals(

system.alarm.requestSave();

system.timeKeeping.setAlarmCnt(system.alarm.getSize());

assert (system.timeKeeping.getalarmCnt() == 1);



O0l1. Incomplete Part Completion

3. unittest &=

controlStopwatchRecord() — Z QI E{ 7} ZA|Zf S S0 7}=X| =9l

stopwatch.requestRecordCheckMode();

assertTrue( topwatch.getRecordPointer()

stopwatch.movePointer( -1);

assertTrue( C on: stopwatch.getRecordPointer()

stopwatch.movePointer( 1};

assertfrue( C stopwatch.getRecordPointer()

stopwatch.movePointer( 1};

java.lang. .out.println(stopwatch.getRecordPointer());

assertTrue( iti stopwatch.getRecordPointer() == 2); //




O0l1. Incomplete Part Completion

3. unittest &=

resetTimerTest() — pause=l 2 EJO| M = reset
0| E|=X| 2l

setTimerTest() = AA|4t= HOH7t=X| =2tQl

timer.requestTimersetting

for(int i = @; 3 i)
timer.changeValue(
timer.changeTy

1

1

timer.changeValue(

timer.requ

time = timer.getTimer();
assert(splites

timer.

splitedTime

assert(spli

assert(splitedTime .equa )3 assert(spli



O0l1. Incomplete Part Completion

3. unittest &=

controlAlarmListTest()

setAlarmTest() — A4S 0 7t=X| =2l — A2t Hoj7t=X| &ol

assertEquals( alarm.getAlarmPointer());
alarm.movePointer( D 1);
assertEquals 1, alarm.getAlarmPointer());

alarm,changevaluet alarm.movePointer( D 1);

alarm.changeType(); assertEqual s alarm.getAlarmPointer());
alarm.changevalueﬂ alarm.move er( S 1);

. assertEqual s , alarm.getAlarmPointer());
alarm.changeType();

alarm.mow

alarm.changeValue(

assertEquals( e 4, alarm.getAlarmPointer());
alarm.movePointer( fo1);

assertEquals( ¢ &, alarm.getAlarmPointer());

alarm.movePointer( dift 1);

assertEquals( &, alarm.getAlarmPointer());
alarm.movePointer(

assertEquals( .getAlarmPointer()}; /7




002. Specification Revision

1. Stage 1000

Use case 2| description O O 2 M|5HA| 2 &= RLO{OF L S E use

case 2| M| = Q| A2 HA|B|OF BHC},

0~59 T+

= QUCH ERE= YY/MM/DD =22 88T =

20| 20 AHS 22 HIFES B}
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1. Stage 1000

002. Specification Revision

1006. Define Business Use Case
- Describe Use Cases

Description

Diescription

ARERFE 712 BhEol A =R AL 2 W, AZks dEEN.

HF 7hsd Az gHe AL 2, 20|32, A= 0-23, 23 = 05901
HRE 5 Do SWs YY/MMDD =0= M3d o= Qi gfie Sus
HH= 2o S50 E02 H=S Sot

2. Display Time

Mone

®7] 47, OY A|7HS TimeKeeping BHH0] HOj=C}



002. Specification Revision

2. Stage 2030

Typical courses of events 2| & F0| L= 3L},

Typical Courses of Events (A)-Actor, (S) System

1. _(A):7]ls #HeIHE Q¥

2 (S): 7= €4 ze=z FHEsttt 671 7| =5(1. Timekeeping, 2. Stopwatch, 3.
Timer, 4. D-day, 5. Alarm, 6. AlarmCustom) = S M EHE| 2= 47l 7| 52|
AL 470 S0 =AM 2 LEEFL

A) U EEEss 4fn TS TAUE ViSOt 5 2dg 7S ciserth
(S): A AL 8EE 2l #7HS HA|EHTL

(A) : 7Zt0IC =X II Heict

(A): EE 28 0X 1 M a¥FTtrt

(S) : AH8 XS] #iZ ArEHS X Z5tA TimeKeeping SH3H O 2 S0RZICH
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002. Specification Revision

2. Stage 2030

—Timer, stopwatch 7} 43

ChLEHS 233

\ 2031. Define Essential Use case

timeout= OftH At

S =13 = Use Case 30.Time Out
SO N .= 2D -~
[ A L Actor N
= Ao = =5} ~
Type Hidden
91E|--
Pre-Requisites Otx| o} 5 2 o = ofF §= gio] 10:20] X|L{of SHCE

TimeKeeping 5}H2| 7|2 2 E 7} OFL| 0{Of SHCH

Typical Courses of Evenis (S): System
1. (S): TimeKeeping $}72] 7|2 R =2 S0l7CH

Altemative Courses of Events N/A

Exceptional Courses of Evenis | N/A




002. Specification Revision

4, Stage 2050, 2060

System Test2} Functional Requirement
le_
=




003. Testing Revision
1. Set Time

4, 9, Yo TtE 2 o] ALt
—HIEZ HZAE T = Zi0| OofL|2} C
ZEC,

“ZA|"2H= BH0| B RCE s
2N 2= 15 20f d4lElCt
1_*_ _C:D_ ITI E-I t xo_lé)l-x_-ll EE I_II- :;'oonaHeo 11 hours ago
SotLt

Of HO| YSITR U2 B O HAE
sj= L7t gt

. sys09270883 3 minutes ago
- G oSS LT AL T




003. Testing Revision
1. SetTime: &9 |9+ 2

S| BTl 2

L3|_ = L

-2 32 H 9ot LHHTI 4o HE Qifhe21 Wi =

EMtA|T 2024 4 2 20| 29 27HA| EXfLt. &

(-

timekeepingdt d-dayd| M &= 0| 2| X 2| 2.

[4] ==
temp, year =
tmpNumOfDay

temp = year % 4
temp == ©
temp = year % 100

temp == 0) {

temp = year % 400

temp == 0
tmpNumOfDay

tmpNumOfDay

—

I
L

tmpNumOfDay = 29

¥

tmpNumOfDay = 28

%]
0

=



003. Testing Revision
2. Display Time: d-day A

|12t U 9o - C =, OIO| 20| & HA|L]

A
Ct.
MM K
="

SEIA 20F #AIZA] Z=Ct

d-dayZt @ - L QUX| YO MH 000" 2 BA|SHA EHT

q Display Time AlZH SR, @Y 22 ofo| 2, & 74, D-day(Z 0| [~}
T 0| QI K] %o m “0p07)y= HA|SHCH



003. Testing Revision
14. Display Stopwatch Record: 8] ~E =9

Hoj=Ct

q Display Stopwatch Record AEHA 7|12 2|l 2AEEFHO 371)E LY E =2 =




003. Testing Revision
15. Control Stopwatch Record: 2] ~E %3]

7\20] ZAjcT| %2 39 7|2 g9 B2 FEE YL g9
sict

sselect button = 2 A7 £210 9100 7|E &0 GEZ H

requestRecordCheckMode ()

N (getSize() == 0)
=0l = ofe 740
‘ 7| _'(_)._l |_§|>'|O|'§| = = N changeMode (2)
7| = = 2l= XA O 2 X 2| =



003. Testing Revision
18.Beep/¥ann

wmra

22|x| LOtA 2
Beep Alarm

20| AAEE 251} €

_or2t0] 22|x| 2ofM 2

system. ==
o] F=1;
1. 250
277158
alarmNum = system. .getSize
BOLASE . -
—|—7|'O'9):|\E|'. AlarmData[] alarmList = system. .getAlarmList
i=0; i< alarmNum; i++
.equals(alarmList[i].getTime() {
1 9‘|AE' 7|iE system.b larmList[i 1(), alarmList[i 1
. — O o system.beepBuzzer(alarmList[i].getInterval(), alarmList[i].getVolume()
MAFA O
SSo 1
J
N A==e) |-
A STHE



003. Testing Revision
19. Stop Alarm

Stop Alarm

Buzzer

q 2 E /|s= oA BROIA Fail = Test
T AR YO, O HES FEH YN R ZRELL




003. Testing Revision
26. Control Alarm Custom List

7} specification O StA| S}

Control .
E:I_EH t‘J| ?}_-.-_

Alarm

Custom List




003. Testing Revision
30. Timeout

SHR| 22 | 10 £0| XIS L

1. timeout 7| 50| 0| 7+34 0| % = timekeeping 2t HOf| S0t7t= AMX| =7 114
o} Rt

2. 102 0| X|LtEH HLd X o = R F0tL}.



003. Testing Revision
30. Timeout

1. timeout @ E0| timekeepingview= =0}7f=  GUIl.setView(GUL.timekeepingView);

FEE =715 S| AL functionNumIdx = 0;
2. L ROIMO| AT HASS HHSH cetectedria - 1.

27| =oAL,






